[ Efficiency vs vertpos |
~ 0.2

20.18F
g o
20.16
U -
$0.14

= o
'450.12

E . +
+ +|It|d

0.9E :
1072 107 1

10 0?
TP vertr (cr%)

—=— DQM_original_step2_ttbar-phasel-newgeom
Efficiend —e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplateCutChiSquareNew5_step?2_ttbar-phasel-newgeom
~ 0.7

£0.09
[

>0.08 : .
> N N 3
8 : : q
50.07 gl g A
Q . s B |
£0.06 RPN 5L U .
[} : : : .
0.05 S |
0.04 SO SR SR DY I
0.03 PR N, S ORI | PER
0.02 Peeghefiteee b AN
0.03 N OO JU0Y | Ot SO

" IES

9535 0 10 20 30
TP vert z (cm)

Ratio

[ Efficiency vs. sim PV z |
~n 0.2
> N R T

O 0.18 - rrerrrrieees A cTTTTT R e
€ o : : : : :
R e e N
20,04 bbb
P E : : : : : :

U RS S S S S S
T e s |
0.08F----+-{{ -
JEER L L
R A SR

e

effic

o REE
T [
x 1.05 {4 [ PR
£ i
09551 50 5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


